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Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
for the questions

1. Answer any ten from the following as
directed : 1x10=10

e fAreaRd R e webr e Tad i

(@) Mention one assumption of Harrod-
Domar growth model.

@T-TIR {er Wiy 9o SfeqRe Sray
41|

(b) Name one neo-classical growth model.

T-R)FS [IrT =fE 96/ /9 forn |
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(c)

(@)

(e

(9)

(h)

Y

22A/1120

(2)

What is meant by technological
progress?

erfer TafS e f qam 2

Define average propensity to consume.
TS (191 2ATOR S5 o |

Who introduced the
hypothesis?

GII-5& SAACO! (I B e 2

Mention one assumption of permanent
income hypothesis.

TN A SEER GO YR SeE 3947 |

life-cycle

Rational expectation model is related to
Robert Hall/Friedman.

( Choose the correct answer )

&S e S0 M0 21/ ey =15/

TS | -

( o= BB AR Bereq )

What is investment?

fafeems &5 2

What is liquidity preference?
wRe NS 2

( Continued )

0

(k)

)

(m)

n)

(o)

(3)

What is meant by fiscal policy?
R e 3ferca [ e 2

What is Ricardian equivalence?

Ry ser 5 2

What is meant by active monetary
policy?

ey Ja Afecw & 3o ?

Who are the classicists?

FFfereRree @F & ?

Did Keynes believe in full employment
equilibrium?

@0 o e SeTRreTe fypT ifRec ?

Name one new Keynesian economist.

O 73 @201y SR 7 forz o

2. Answer any five from the following
questions : 2x5=10
To oA i et #Aioor e e
{a) What is the golden rule?
cmena o 2
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(&) (S)

(b) What is meant by endogenous growth? 3. Answer any four from the following
wEEe [P 3w [ 35w 2 questions : 5x4=20
O CIRE R e iR T f
{(c) Mention two differences between
Harrod-Domar model and Solow model. (a) What are the two effects of investment
ES-BNN W W vE Wtk W o1 according to Harrod-Domar model?
M1 Bead 4 | Essplai
@'e-w'R wif SpilR [RA@eR o o) $
(d) Why marginal propensity to consume &2 7 390 |
cannot be greater than one? :
4ifes @ gadel [ @l @k 29 (b) Explain Keynes’ psychological law of
GRS ? consumption.
@A (S8 TEIGF OG0! I 347 |

" (e) What is random walk of consumption
expenditure?

(ST AR AT 4TS T 2 (c) Explain the elements of endogenous

growth.

() Mention two monetary policy targets. e [RerE %m 0 F10 0

91 S Kol =75 SraEd I |

(d) What are the limitations of Harrod-

(g9 Mention two differences between Domar model? Explain.

classical and Keynesian thoughts. @@'e-vR W SHREerwz & &

TIPS e (270 SRIRH TS 701 {12 Ll

T 9

(e) Explain the concept of inventory
investment.

SIaTE RIS 4=eCeT 9= <41 |

(h) Mention two features of -classical
macroeconomic thought.

IS R SRR 701 38 Sras <01 |
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(6)

() Explain the time consistency problem of
monetary policy.

a1 ST TSN O 101 1 |

(g) Distinguish between external and
internal government debt.

BT F AoEAT HFEl 4R TR A1
ey <1 1

(h) Explain the main features of new
classical macroeconomic thought.

T EPe R SRR @ IFERTR
=M 4 |

4. Answer any four from the following
questions : 10x4=40

werd AR R @1 vifsoE Tes fran -

(a) Critically discuss the Solow model of
economic growth.

Gafes g 55 SRSl SCEA FRFI
DA T4 |

(b) Discuss Fisher’s theory of optimal inter-
temporal choice.

o I WRSTIRE 27T OG0 SE ]
90 |
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()

(@)

(e)

(g)

(h)

22A/1120

(7)

Discuss the Keynesian consumption
function.

@I (151 FEARCO! SCAAT 41 |

Critically  discuss the life-cycle
hypothesis.

S -5G Sl SHICADA] SRR ST
el

Is permanent income hypothesis an
improvement over life-cycle hypothesis?
Discuss.

TR W SEFAGT S SEEEele  SHe

GfF 7 AT F47 |

Discuss the determinants of business
fixed investment.

o &3 Ritanr Rz Sems 10 |

What are the motives of demand for
money according to Keynes? Discuss.

@FHI To @R SR Sfeawnz & %2
AT 41 |

Discuss the objectives of monetary
policy.

1 R SERPTRR A 1 |
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(8)

(i) Discuss the main features of Keynesian
thought.

(DR SIRYEE T2 CIMFEBPTIR SICT5A1 3T |

() Discuss the key elements of the new
Keynesian fixed price model of macro-
economic equilibrium.

B SRTeR W (P%0m 39 W
SROH T4 SRR S 9 |
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